NOTE: Attempt all questrnns of Settionis/ - @gﬂwg bubble on the MCQ

ANSWER SEEET @ et | -.- ntendentwﬂhln given lime, even if you
haye Acflattampte ..
SECTION-A
Time: 20 Minutes ' Marks: 12

1. Dental amalgam (Hg in Ag) is the......... type of solution. A) solid in solid,
B) fiquid in liquid," C) solid in liquid, ¥fliquid in solid

1 WBich of the following is a weak electrolyte? A) H,S0,, B) HCI, MﬁECOGH. D) NaOH
3. Tre nalogen present in 3oid foms ... K) cioine, B) fuotine, C) Lromne "G;M'm

4, The chemical bond in NaCl is .......... bond. A) coordinate, B) cwalant.'{}'ionlc,

D) metallic
5. An atom with a charge is called......... A) an electron, B) a molecule, C) a proton,
) an on :
; .
8. Existence of an element in more than one crystalline form is called .......... AYallotropy,

B) isotropy, C) phototropy, D) polymorphism

7. An electron In its ground state does not ........... A) spin, B) revolve, Dﬁ;d
. D)reside in orbit ,

8. Atomic size decreasesof?n af
r

nucleus. A) electr | = : S
O 2
2 TRdE % Mﬁomic number, B) mass number,

10, "Lead"is a meta which is represented by the symbol ........... {Pb B) Sn, C)Au, D)Hg

11, Which of the following is a homogeneous mixture? A) smoke, bﬁir. C) fog, D) smog

12. Protium (H) and Deuterium (D) are the ......... of hydrogen. A) isotopes, B) isobars,
C) isotropes. N\ ienfarms



